4) 7

6) 6

8) 6

10) 7

12) 27

14) 26

15) B

16) D

17) Should multiply

16 by 3, not 4

18) Should be + 28,

Algebra I
32) it gets smaller pe. 171
33) 5¢
34) 18 min 41) 80 yd.
35) 90 km 42) a: 4.5 moles
36) 48 km b: 3.4 moles
37) 7.5 km c: 132 tol
38) 70.5 km 43) 45,000 males
39) 17.728 m 30,000 females

40) a: 213.75 ft
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If the equation is a proportion,
it remains true if you flip it over.
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If the equation is a proportion,
it remains true if you flip it over.
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distributive prop. b:[Shel (in) [Burst (ft)
19) 15 2 90
21) 10 3 135
2 53 Cle
25) 3.4
27) 42 e 1 270
29) -5.9
l?) o Q_ ) A -3
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If the equation is a proportion,

b goize

The means - extremes theorem allows us
it remains true if you flip it over. to swap one numerator of a proportion
with the other fraction's denominator.

,,(dus) d=12) /o
d+13 = 3D 2((%§= -%E)

derd = 3d-39 = TEeHS)

d-d +13 =344 -39 = byt IS
l3-:24-3') Ae—bw =6 p-6x +1S
13439 =24-39+39 xX=ig
S2 = y
53 b

=d

2{24}

ZD S5z

Sa .Y =‘@D

Sg+Y = b2 -4

SeSaY =6e-52~4

4=2-6

Yig =@-644

0= 2

g

%) et

The means - extremes theorem allows us
to swap one numerator of a proportion
with the other fraction's denominator.
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Finish from here...

27 Nn+0.2 7~ 9 _
D (2223 s

2% D= 9(4-2.2)
2n +0.6 = Tn-28.8
2A2nr016 =Pn-2~-28.8
0.6 =7n-22.9
D.6129%= 7,-28.9+28.®

4.2 =

$4.23




33 2 __x
2 bisget | 3D

30bis,eleups
2 & bys,

November 11, 2011

4D Cin mﬂ“x—é"-*‘“\

Lt bl 2|°

lgOng u-'-l-l-n

ds
Y

42 2 Females total : 5

2 males

(%'= '75:900 3’5’“

0000 = 3
30,000 Females

75000 ~30,000« YS 000 males




